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Chapter 11:

Problems: Congruence Conditions and Definitions to Properties
This file contains a selection of problems related to Chapter 11.  These may be used when making up exams.
Note: Four Step Problems are located in a separate file.

Identifying Congruence Conditions
· Work out as many of the unmarked sides as you can. If it is a congruence condition, write “CC” if there is not enough information, write “Not CC”.
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· Pairs of triangles, which appear to be congruent, are given below. Mark “CC” if you are given enough information to know that they are congruent, and “Not CC” if there is not enough information.
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· Clearly express a congruence condition for a Rhombus. 
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_________________________________________________Alternate Images: (Square, equilateral triangle, parallelogram, kite, rectangular box, trapezoid with a right angle, cone, prism with a regular pentagon base, pyramid with a equilateral triangle base, rectangle)
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· Billy said to his sister, “Two lengths are enough to determine a rhombus.”

She disagreed, “I think that you need at least one angle to determine a rhombus.”

But, Billy is right. What part of the rhombus must the two lengths represent in order to be a CC? 
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Labeling Congruent Triangles
· Two congruent triangles are given below. Mark the second triangle by marking A’ on the angle that corresponds to angle A, and a’ by the side that corresponds to side a. Do the same for B, C, b, and c. 
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_________________________________________________Alternate Image:
· Find the other three pairs of congruent triangles in the following parallelogram.
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1.  ΔADB~ ΔDAC
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· There are three pairs of congruent triangles in the following isosceles trapezoid. One pair is given. Find one other pair of congruent triangles. (Hint: It may help you to mark the congruent sides and angles in the figure.)
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1.  ΔADC~ ΔBCD
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True or Not
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For the following statements

· If true, simply write true, or

· If false, write false and draw an example showing the statement is false.

(A) If we know that the three angles of the triangles are congruent, then the triangles must be congruent.

(B) For right triangles, SS is a congruence condition.

(C) For acute triangles, SSA is a congruence condition

______________________________________________Alternate statements:

(A) If we know the side length of a rhombus, then that is a congruence condition because all of the sides are the same length.

(B) For an isosceles triangle, SS is a congruence condition.

(C) For any regular polygon, S is a congruence condition.
Possible or Not

· 
· 
For each of the following statements, 
decide if it is possible or not.

· If it is possible, write POSSIBLE and draw a picture.

· If it is not possible, write NOT and give a reason. 

· Two squares that are not congruent.
· A triangle where SSA is a congruence condition.

· Two rhombuses that are not congruent.
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